
SAP ABAP table PPORD_BW_V {Generated Table for View}

PPORD_BW_V

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

PLNBEZ [CHAR (18)]

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

GSBER [CHAR (4)]

KOKRS [CHAR (4)]

KOSTV [CHAR (10)]

WAERS [CUKY (5)]

PRCTR [CHAR (10)]

KDAUF [CHAR (10)]

PRONR [NUMC (8)]

PLGRP [CHAR (3)]

PSPEL [NUMC (8)]

DISPO [CHAR (3)]

AUART [CHAR (4)]

FEVOR [CHAR (3)]

AKSTL [CHAR (10)]

TERKZ [CHAR (1)]

OBJNR [CHAR (22)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 PPORD_BW_V-PRCTR = CEPC-PRCTR 
0..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 PPORD_BW_V-AKSTL = CSKS-KOSTL 

0..N

1

 PPORD_BW_V-KOSTV = CSKS-KOSTL 0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 PPORD_BW_V-PLNBEZ = MARA-MATNR 
0..N

{0,1}

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 PPORD_BW_V-OBJNR = ONR00-OBJNR 
1

1

PROJ

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 PPORD_BW_V-PRONR = PROJ-PSPNR 
0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 PPORD_BW_V-PSPEL = PRPS-PSPNR 
0..N

{0,1}

T000

MANDT [CLNT (3)] PPORD_BW_V-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 PPORD_BW_V-BUKRS = T001-BUKRS 0..N

1
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 PPORD_BW_V-WERKS = T001W-WERKS 
0..N1

T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]

 PPORD_BW_V-AUART = T003O-AUART 

0..N

1

T024A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

FEVOR [CHAR (3)]

 PPORD_BW_V-PLGRP = T024A-FEVOR 

0..N

{0,1}

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 PPORD_BW_V-DISPO = T024D-DISPO 

0..N

1

T024F

MANDT [CLNT (3)]

WERKS [CHAR (4)]

FEVOR [CHAR (3)]

 PPORD_BW_V-FEVOR = T024F-FEVOR 

0..N

0..N

T482

MANDT [CLNT (3)]

TERMKZ [CHAR (1)]

 PPORD_BW_V-TERKZ = T482-TERMKZ 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 PPORD_BW_V-WAERS = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 PPORD_BW_V-GSBER = TGSB-GSBER 

0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 PPORD_BW_V-KOKRS = TKA01-KOKRS 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 PPORD_BW_V-KDAUF = VBUK-VBELN 

0..N

1


